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Warm up
1. Sketch by hand. f(x)=2e¢™ +3 2. Expand.
[(3x+1)2] &logfgfm
a. log. YR ‘O( \ﬁ
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3. Condense.
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Homework Questions

e e -5=0

(" -35) (e +1)=0
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logx =4
0" = X
X=[0,000
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InS5x=3
2

e =D5%
e%
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log,(3x—2)=2  leG-h=letrs
g X-1 = Bx+H
A = 3K o~

-5 =adX
Q=2 %x-a .
=3 % o)
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In(x+4)=5 3+2Indx =5

VInAx=L
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c L InHx = |

x=e>1
Y= HH 13
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In(x-2)+In(2x-3)=2Inx log x +log(x+15)=2
I (x-3)(8x-3) = &N x Jog(ﬁ”@@:&
In(ax*Tx+0)=Inx’ 7= X 15X
3 = @+ 15%x- 100
&X& B - (- 9) (xran)
X = Ix+=0 X:‘S/QQ
(=) (x-1) =

X=l,X
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2x=In(x+2)
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Find x-intercepts, domain, VA, sketch problems
N~

£(x) = log,(x+5) \ v
O =094 (X+5)
o _ b.'<—5/ °‘O\> |
H™ = X+ 5 | 1
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[=X+D X=-4 S SRS EEEEEE

y=-4log,(3x+2)
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HOMEWORK

November 05, 2018

p 221 7,15, 29-37 odd, 85-103
odd,

111-113 all, 123-127 odd,

p 203 48-52 even, 71, 73

10
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